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Question 1

For the circuif shown below, assume steady-state for ¢ < 0:
A. Find the differential equation associated with the voltage v, for ¢ > 0.
B. If R = oo, find v(t) for ¢ > 0.

C. For the equation obtained in part A., find R such that v(¢) is eritically damped.
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Question 2

Find the steady-state voltage u(t).
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Question 3

Find the load Z; so that it absorbs maximum power.
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Question 4

A 7.46 kW motor operates from a 480 V,,,,, 60 Hz source with 0.8 lagging power

factor. Determine the parallel capacitor C' required so that the power factor is
changed to 0.922 lagging.
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